Statistical Officer, Agriculture Deptt 2015, Exam Date: 24.04.2018

Ques # 1 (English)

Diagram in which area of the rectangle is proportional to the frequency of the class intervals with
unequal length

A) Bar diagram

B) Frequency polygon

C) Histogram

D) Multi bar diagram

Ques # 1 (Hindi)
UF IR T AT FT TG AT F T Hearel HT ATITaF 8, STafF T Ioairer GHIT AT :
A) IR 3IRG
B) 3R e
C) e
D) 9 IR 3R

Ques # 2 (English)
Algebraic sum of the deviations of a set of values from their arithmetic mean is :

A) Positive
B) Zero

C) Negative
D) *1

Ques # 2 (Hindi)

THST F ATAT T AT W e« 1 dsrroiidir 2 g
A) THRIcHSR

B) AT

C) AFRIHS

D) +1

Ques # 3 (English)

If the distribution is moderately assymetrical then 3(mean - median) is equal to

A) (mode - mean)

B) median - mode

C) 3 median - 2 mean
D) mean - mode




Ques # 3 (Hindi)
IR e A A FATHT 81 aY 3(HATwe ATEY - ACIHT ) S T

A) (Sgeleh - HHTeIT ATET )
B) (HATTEYH - Sgelh )

C) 3 AT - 2 GATeR ATET
D) HHATcR ALY - Sgeleh

Ques # 4 (English)

While comparing two groups it is observed that coefficient of variation of one group is 2 along with mean
as 4, while in other group coefficient of variation is 3 and mean is 8 . The ratio of two standard deviations
is:

A) 2/3

B) 3/4

C) 1/2

D) 1/3

Ques # 4 (Hindi)

ar it Y JoAT Fe I E SWT AT 3 U T 7 Fawrerey J[ONF 2 § 4T ATEY 4 § Fafh gat g9t H1
farereret aporier 3 ¢ 3R wTer 8 ¥ | QXA AT Tl 1 AT §

A) 2/3
B) 3/4
C) 1/2
D) 1/3

Ques # 5 (English)
A given data has mean = 6.5 , median = 6.3 and mode = 5.4 . It represents :

A) leptokurtic distribution
B) mesokurtic distribution
C) negatively skewed distribution
D) positively skewed distribution

Ques # 5 (Hindi)

U &Y TSI HTATEY = 6.5 , AICST = 6.3 Td agelsh = 5.4 § | Ig yiafafea wxarg
A) JITRFCT FET

B) HEThHCT SeaT



C) HUTcHS JsARAT e
D) HellcHe® dSHTIT §cal

Ques # 6 (English)
Complete idea of a distribution is formed with :

A) measure of central tendency
B) measure of disperson

C) skewness and kurtosis

D) All of these

Ques # 6 (Hindi)

UF qeol T FqOr AR aorar g
A) FET ggid & AT @

B) bema F AT F

C) 3T IT Fhecl §
D) saA A gl @

Ques # 7 (English)

Let correlation coefficient between X and Y is positive then the sign of both the regression coefficient is :
A) positive

B) negative

C) both positive and negative

D) opposite

Ques # 7 (Hindi)
IR X qUTY & oI §E ey JOTTeh UATcH § ol Glail FHTHIOT 0TIk 1 e §1om :

A) YTcHS

B) FUllcH%

C) =TcHe dUT FUTcH® Gl
D) fawlia

Ques # 8 (English)
Let X; (i =1,2,3) are uncorrelated variables each having the same standard

deviation, then correlation coefficient between (X, +X; Jand ( X;+ X5 ) is:



A) 1/4
B) 1/2
01
D) Zero

Ques # 8 (Hindi)
IR X (i =1,2,3) FEgHaY X § o161 Ycdeh &l Al [ddeld @&y &,

dr (Xy+ Xy ) 3 (X, + X3 ) & &/ HeHay a00F §

A) 1/4
B) 1/2
C) 1

D) =4

Ques # 9 (English)

For a discrete distribution for obtaining rank correlation coefficient,

the sum of all the differences of ranks that is,

T
Z di
i=1
is:
A) Zero
B) 1

C) Negative
D) >1

Ques # 9 (Hindi)
aisd dea & ol I& dday qunis e & fow @i (& & e

HT T F7UT
z di
i=1
A) T
B) 1

C) FUcHAR



D) >1

Ques # 10 (English)

If the regression equation is a good fit then the multiple correlation coefficient R is -
A) zero

B) nearto 1

C) negative

D) >1

Ques # 10 (Hindi)
I FHTHIT FHIHIOT U <) X & fhe § oY Igway J0TH R FIATA & -

A) =
B) 1% 31 9

C) ®UTlcHs
D) >1

Ques # 11 (English)

Correlation coefficient between variables X, and X, , X, and X,
and X, and X; is r, then partial correlation coefficient between

X, and X, after eliminating the effect of X5 is :

A T

By l1—7r
L

C) r+1

D) —:

T

Ques # 11 (Hindi)

X, X, , X AR X, FT X, 3R X, & &9 Hgddy » ¢ o
X, IR X, & & AF g OMF FAT § AP X,
% 9T i Telehrer Bar amar § ?

A) T
By 1—7r
T

C) ——

T+1




-1
D) —

T

Ques # 12 (English)

Minimizing the sum of squares of the deviation of the actual value of Y from their estimated value as
given by the line of best fit in a linear model is :

A) Principle of Least squares

B) Method of M.L.E.

C) Method of y?
D) None of these

Ques # 12 (Hindi)

U AF Alser 7 Y & TATIF ATl T HFATANT AT  FRAT 7147 3t & Fa1f 7 A7 F1 § FA A1 o
3T TS e AR I E, MFATHFgA & 2

A) FIATH T3 T G

B) 3tf&rehciar Fatra=TT giaem & fafer

C) =15 g3t Fr fAfer

D) $oTH & hIg =TT

Ques # 13 (English)

For any three events A, B and C

P(A v B|C), is equal to

A) P(AlC+ P(BIC)

B) P(A|lC)+ P(B|C)— P(ANBI|C)
C) 1— P(AnB|C)

D) P(AUC)+ P(BUC)

Ques # 13 (Hindi)
e ofr ot g3t A, B @ C & ™ P(AUB|C) T AW

A) P(alO+ P(B|O)
B) P(A|C)+ P(B|C)— P(AnB|C)

C) 1— P(AnERB|c)
D) P(AUC)+ P(BUC)

Ques # 14 (English)



For the following diagram

.

AB

Then P(A) is same as :
A) P(4) —P(B)

B) P(4) +P(B)

C) P[BU(ANnB)]
D) P[BU(ANBE)]

Ques # 14 (Hindi)
F=afef@aa 3w & fov

.

AB

ar P(A) & SRIR & :
A) P(4) —P(B)

B) P(4) +P(B)
C) P[Bu(AnB)]
D) P[BU(ANnB)]

Ques # 15 (English)

Let A and B be two events such that P(4) = % ,P(B) = 1

5
and P(AU B) = %then P(B|A)is :
A) 1/2

B) 1/4
C) 2/3



D) 2/5

Ques # 15 (Hindi)
3R A 3 B & ¥t meat § St P(4) =2, P(B) = :

5
21 P(A U B) =% ¥ ar p(Bla) & ARE

A) 1/2
B) 1/4
C) 2/3
D) 2/5

Ques # 16 (English)

Let two unbiased coins are tossed. Expected value of the number of heads is :
A) 1

B) 2

C) 3

D) 1/2

Ques # 16 (Hindi)
A ARd RFF P IS IR | TS F N A gFnfaa AT

A) 1
B) 2
C) 3
D) 1/2

Ques # 17 (English)
It is observed that P(E;) = i for i=1and2,and P(B|E,) = é )
Baye’s probability P(E,|B) is -

A) 1/3
B) 2/3
C) 1/2
D) 2/5

Ques # 17 (Hindi)
a5 &ur 7 R P(E) =<, i=117d2, @ PBIE) =<,
al SIaT WAdr P(E,|B) & AT § -



A) 1/3
B) 2/3
C) 1/2
D) 2/5

Ques # 18 (English)

Let X be a random variable with p.d.f. as given below

x: 0 1 2 3
1 1 1 1
T
The expected value of ¥ = (X — 1)? is
A) 8/7
B) 7/8
C) 917
D) 7/9

Ques # 18 (Hindi)

a9 X Ut ATos o oawr g &G g & Gar mar §

x: 0 1 2 3
1 1 1

1
Pl o 5 o %

al v = (X —1)° & grfad AT § :

A) 8/7
B) 7/8
C) 9/7
D) 7/9

Ques # 19 (English)

The moment generating function of Binomial distribution is :
A) (g +e)"

B) (q —pe)"

C) (p+gqe’)"

D) (q +pe’)"

Ques # 19 (Hindi)
UF fa9G e T HTEOT ST Holel § -

A) (q+e)"



B) (g —pe’)"
C) (p+ge”)"
D) (g +pe’)"

Ques # 20 (English)

Let f{x; 'r,p) denote probability distribution function of negative
Binomial distribution. If r = 1 then this distribution becomes

A) Pascal

B) Poisson
C) Uniform
D) Geometric

Ques # 20 (Hindi)
HONCHS Giaug dcal &1 TIdedr seet Borl f(x;7,p) &,
3R r =18 d ¥g 9o FleT AT 9T g A &

A) UrEReT
B) qrg&el
C) Feirhre
DRERIGELY

Ques # 21 (English)

In normal probability distribution all central moments of odd order are
A1

B) zero

C) <1

D) none of these

Ques # 21 (Hindi)

YA TRAFAT deat 7 fws wer & woft Sl smepoit &1 a7 -
A) 1

B) I

C) <1

D) SeTd & IS &1

Ques # 22 (English)



Mean and variance of exponential distribution are respectively
A) A and A?
1
B) Aand =
1
C) - and —
A

D) % and A?

Ques # 22 (Hindi)
THANAT RN G¢T FT ATET TAT THIOT HAA: §

A) 23T 22
B) AHR ﬁl—z

Q) %ﬁhﬂ%
D) %3?\?12

Ques # 23 (English)

In which distribution probability density function at all the points through out the range of X is same

A) Exponential
B) Gamma

C) Rectangular
D) Beta

Ques # 23 (Hindi)
forw aeeT 1 NRFAT getcd Belel WUt X HT HAT & Foft STorgl W R @

A) THHGAATAT
B) IMAT

C) Yo’k

D) dter

Ques # 24 (English)
Let X and Y be independent Gamma variates with parameters

X
wand y, then distribution of Z = ——is :-
X+Y

A) Gamma distribution



B) Beta distribution of type-I
C) Beta distribution of type-1I
D) None of these

Ques # 24 (Hindi)
3R X 3R Y & Tada A =X § fordesr rge p 3Ky

%”,a‘rz=£aﬁra'zﬂ%‘:-

A) AT T

B) &Il ScoT YUH YhRR I
C) dIeT §ee Eiddiid YehR
D) ST & IS el

Ques # 25 (English)

let X ~ B, (m,n),theny = ;—X follows

A) Beta distribution of type-I
B) Gamma distribution

C) Beta distribution of type-1I
D) None of these

Ques # 25 (Hindi)

IR X~ fp (mn) Ay =—— & dea § -

A) TT8Y-| dieT dea
B) 3IMMHAT §caT

C) ers9-11 dfieT e
D) $oT8 & 15 =¥l

Ques # 26 (English)

let X ~ F (n,m) then distribution of i follows :-

A) F (m,n) distribution
B) Beta distribution of type-II
C) Normal Distribution
D) F (n,m) distribution




Ques # 26 (Hindi)

SR X ~ F (n,m) @ = % dea § -
A) F (m,n) ST

B) T139- || dfieT s

C) JHTHT §ceT

D) F (n,m) ST

Ques # 27 (English)

let X ~ x3 (n) and ¥ ~ x3 (m) are two independent variates, then the

ratio of these two chi squares distributions divided by their respective

degrees of freedom follows -

A) x? distribution
B) F-—distribution
C) Gamma distribution

D) Beta distribution of type-ll

Ques # 27 (Hindi)

R X ~ % (n) dUT Y ~ 32 (m) G T 9 § al 31 ae=r
TS FFARINI Pl 3efehl FaaA Hlie d HAET FHAT I1AT §
I AT I deef § :-

A) FIS TFAI e
B) F - §caT
C) 3MAT ST

D) €189-I1 ser sed

Ques # 28 (English)
Which one is not true for the assumption of t-test?

A) sample size is small

B) sample is drawn from a normal population
C) sample observations are independent

D) population variance is known

Ques # 28 (Hindi)



- gdieTor Fr AT F AT Flaar FyT I T T -

A) Ffee T 3TPR BT & |

B) gfaes! gy §ATS & forar s g |
C) ufdeel i FaATd JeTh TaaT ¢ |

D) HHATSS T [a<relel AT & |

Ques # 29 (English)

In an experiment it is observed that d = 4,n = 9 and .5'§' = 36,
then testing the significance of difference between two means,
paired t-test comes out as

A) 16
B) 1
C) 2
D) none of these

Ques # 29 (Hindi)

Tk JART A GRTIRAT & &F d=4,n=9, S2 =136 ¢ af gl
AT & ek & qlaTr & fo A t qator &1 A § -
A) 16

B) 1
C) 2

D) $+TH & 15 oTel

Ques # 30 (English)

Characteristic function of y¥2- distribution with n degrees of freedom is

A (1—it)y ™2
B) (1— 2it)™?
C) (1— 2it) ™2
D) (1 . Eit)—ﬂ;’E

Ques # 30 (Hindi)
HTE I g FHT TTAFAT HITC T AT n §, FT TAATAT3AT FT BeleT T F1AT

A) (1 —it)™/?



B) (1— 2it)™?
C) (1— 2it) ™2
D) (1 . Eit)—ﬂfz

Ques # 31 (English)

Let statistic t follows student t-distribution with n degrees of freedom. If n=1 then this distribution
reduced to

A) Gamma distribution

B) Standard cauchy distribution
C) Exponential distribution

D) Beta distribution of type-II

Ques # 31 (Hindi)

TF Hfageier &, FESTH < dTeT FT UTeleT HIAT ¢ foraeh FTaadT HIE n ¢ | 3R n=1 g1 aY g et yRafela
B AT S -

A) AT S

B) HTeTeh IRl e
C) ThAUIAATATel dcaT
D) e18Y- |1 T seet

Ques # 32 (English)

Mode of F - distribution is always

A) greater than 1
B) zero

C) lessthan1
D) none of these

Ques # 32 (Hindi)

F- ST & Sgelsh 1 AT gH0
A) 1GSSTEIaTs

B) =

C) T A HAGIATE

D) 373 | IS el

Ques # 33 (English)




Let X follows p-variate normal distribution with mean vector y and variance
covariance matrix £ , that is, X~N, (1, ), then ¥ = cX follows

A) Np(u, Z7)
B) Ny(cu,cXc')

C) Np(cu, c*L)
D) N, [E uc,cxch

Ques # 33 (Hindi)

IR X, p T & GATAT s§cel I 9Telel Hldl § Toldehl AT dered u
e faaRor wegater Afeed £ 8, 3, Xx~N, (WD) a ¥ =cx @
ded B -

A) N,(1,Z?%)

B) N,(cu,cZc’)

C) Ny(cp, )

D) Np(bpc’,cE c")

Ques # 34 (English)

Wishart distribution is a generalization of
A) t-distribution

B) Gamma distribution

C) x%- distribution

D) None of these

Ques # 34 (Hindi)

Rremé sreeT Finey seet T WTTREOT §
A) &-deaT

B) IMMAT ot

C) &S gdT gl

D) $+1H & Ig TeT

Ques # 35 (English)



IfA; (i =12, ....,p) are independently distributed as W, (£ ,n; )
respectively, then A = E?:l A; is distributed as

A) W, (X ,n;)
B) M,L (}?E lZf:‘l n; )

Ques # 35 (Hindi)

R A (i=12,...,p) Tadd &1 & W, (Z,1n;)
deag aed dar A=Y, A; & deT § -

A) W, (pZ ,n;)

Ques # 36 (English)

The test statistics £, _p—q for testing the multivariate regression
parameters [5; under null hypothesis H,: ; = 0 is

Ques # 36 (Hindi)
I GREFTAT H,: f; = 0 & 3edid AddRue gidamaa ey
B, @ Siid #= & faw & wfagest £,y & AW



A) —
SIEU:
B) bf_SEJ_.r
bj*
C) 3
1— S,
bj

Ques # 37 (English)

For perfect multicollinearity, which one is not true
A) Rank of X matrix is less than full rank

B) [x'X]| is not equal to zero
C) |X'X| cannot be inverted
D) (X'X)!isindeterminate

Ques # 37 (Hindi)
I AR F PTsad A FT rF T A8 8

A) x AfeFa &1 Aof grgof Aol & Fa 2
B) IX'X| =T & WET T8 ¢

C) |x'x| @t 3ecr A& TRAT AT THhaT ¢
D) (x'x)"! SAB#=C &

Ques # 38 (English)
Which one of the following statement in not correct :

A) Principal component is the normalized linear combination with maximum variance.
B) Principal component turn out to be the characteristic vector of covariance matrix.
C) Principal component method is used in factor analysis.

D) The generalized variance of the vector of principal component is not the generalized variance of the original
vector.

Ques # 38 (Hindi)
A I ST T aFdT A g ¢

A) FTY g RIH JEROT Afgd AlThhd IAh Tl §




B) HEY Tceh HETERUT 3TeYg & A& dereT H Ferel STl &
C) HEY " fafts e faRewor & 3uzer il &

D) HE&Y Tceh & JeFeX Tl STThIehcd JERUT Hel deFeX Sl chTCehlehel YEIOT 8T Il

Ques # 39 (English)

For small samples from N(B,52): o2 unknown a 100(1 — a) percent
confidence interval for @ is given by

A) 6+t,, . 2SE (6)
B) §+t,, ,SE(8)
C) 6 +t,, 4 3SE(6)

D) noneof these

Ques # 39 (Hindi)

U% B¢ O Tiaeel & &F NG, 62); o2 AT 18T ¢, ¥ o
g ar 10001 — @) 9Tderd 6 &1 faeaaslia Heddel & AT ¢ -

A) 6 +t,, 4 2SE (6)
B) §+t,, 4SE(8)
C) 6 +t,, 4 3SE(6)
D) 3a1# & IS a1

Ques # 40 (English)

For a sample of size n, the statistic
T
SEZEZ[X'_;E)Z iS
= E

A) biased and inconsistent estimator
B) unbiased and consistent estimator
C) biased and consistent estimator
D) none of these

Ques # 40 (Hindi)



T&F n {HR & Yaced & o ufagd=

sz=%;(xf—f)2 ¢

A) fAeTd TT 31T 3Teheleh

B) 3ATHesId UF HITd 3Thelh &
C) fReald Ud HTd HTeheleh &

D) $+TH & FI5 oTeT

Ques # 41 (English)

An M.V.U. estimator is unigue in the sense that if T; and T, are
M.V.U. estimators for y (@) then

A T, >T,
B) Ty <T,
C) Ty = T, almost surely

D) none of these

Ques # 41 (Hindi)

T M.V.U. 3Thelsh JGiddd g, 38 @l H & 3R
T, 3T T, , y(8) & e g dl

AT, >T,
B) T, <T,

C) T, =T,, chrsyer &fdgd &0 &
D) Zeidf ¥ FIS G

Ques # 42 (English)

In an experiment it is observed that E(X) = 8 and I(0) = :—2 ,
then Cramer-Rao lower bound for the variance of an unbiased
estimator of 8 is

A) g2
B) n#%

TL
C) —

82



32
D) —
i

Ques # 42 (Hindi)
T TAET & IR AT & B E(Y) = Huﬁf(ﬂ}:;l—zEﬁﬂéF
faaeiel &1 hFd & wgeidA 15 Gl

A) g2
B) nf?

C —

D) —

Ques # 43 (English)
Let the likelihood function of a density function is given by
Lla) = f(x,a) = % (& —x); 0 < x < a then maximum
likelihood estimate of parameter @ is
A X
X

B)E

C) 2x

D) none of these

Ques # 43 (Hindi)
U Helcd Holed T HdelT Tolel L[a]=f[x,a:]=% (e — %)
g, oel 0<x<a g dl 9y9a a & 3fOHaa gfadr e a1 ¢

A) X
x

B)E

C) 2x

D) 34 ¥ HIS g

Ques # 44 (English)



G
If t,, is a sufficient estimator for @ , then 25 logL

is a function of only:

B) 6
C) t,and@
D) t,,8 and (xy,%x5,.....)

Ques # 44 (Hindi)

a‘ﬁﬂﬂqﬁvtnwmm%aﬁ%mg

Telel & hdel

A) t, &

B) 6 @r
C) t,Td @I

D) t,,0 Td (xq,%,.....) I

Ques # 45 (English)
Which one is not true

A) Accept Ho when in fact it is false called, type -1l error

B) Type -Il error is not very serious

C) Correct decision of rejecting null hypothesis when it is false is known as power of test
D) We may reject Ho when it is false, is type-1 error

Ques # 45 (Hindi)

sAN A FT H T A&

A) Ho Y TIehR HITSTT S areciden 7 I8 TEI 161 o, 1 <sd- |1 I Fed &

B) e1sY- |l 5§ TR AT &

C) e TRFEYST o TEI HHAT hl IEATRR AT STa{eh TG Ield & ol ILETUT T AT g o
D) & Ho I 3EdhR oY Hehel © Sielfeh Ig ITeicl & , I &T89- | I e &

Ques # 46 (English)

Which one is not true:

A) The probability that the statistic will fall in the critical region is «



B) a is the probability of committing type-Il error
C) « is the probability of committing type-l error

D) Probability of committing type-l error is level of significance

Ques # 46 (Hindi)

STH U P TH W AL &

A) ue gidgsts & sifds & F Fem &1 widsdr o« &
B) ¢u-ll At el H GRiHAr o §

C) er=u-l Afe #el & Wid®dl « &

D) TEY-l A F=1 FT TIfA®RAT I TARfFdl TR Fed o

Ques # 47 (English)

For testing H,: @ = 6, against Hy: 8 = 8, , the critical region W
and consequently, the test of size @ based on it said to be unbiased
if the power of the test is

A =«
B) =«
C) =a

D) >«

Ques # 47 (Hindi)
H,:8 =8, & H;: =0, & &%y Sig & forw wifdes & W
Hefdleedd Fed & dlq TG0 &I Afdd

A =a
B) =«
C) =«

D) >«

Ques # 48 (English)

If the direction of the difference is not known, the critical region will be in both ends of the sampling
distribution, the test is known as

A) one tailed test

B) two tailed test

C) both one tailed test and two tailed test



D) None of these

Ques # 48 (Hindi)

3T 3T Y 2T 31T & Y Fifasd &7 Ufaeey e & At AT A gl sy AT F FATFgd &
A) Teh 95 geToT

B) &fd qo uyeior

C) Teh Y& TI&T0T 9 &fd I 9l1etor aleit

D) $oTH & #I5 oTel

Ques # 49 (English)

1
£ £Cx,6) = {E 0<x=<@
0 otherwise

For testing the null hypothesis H,: 8 = 1 against H;: 6 = 2
base on a single observation x the size of type-l error if we
choose critical regionas 0.5 = x is

A) 0.25
B) 0.60
C) 0.80
D) 0.50

Ques # 49 (Hindi)

1
0 HeadAr

H 3 IRFeTdT Hy: 0 =1 & TG%cH Hy: 6 = 2 &1 GUET0T
Teh YTl x W fhaT 77 § ol 9UH Y H Al H PR,
afe wifde &F 05<x g dr, & :

A) 0.25
B) 0.60
C) 0.80
D) 0.50

Ques # 50 (English)

If T = t(x) is sufficient statistics for 6 then using N-P lemma, the most
powerful critical region for the test may be defined in terms of

A) Marginal distribution of T = t(x)



B) Joint distribution of x,, X,,......X,

C) Conditional distribution of x;, %3,......x, for given T
D) None of these

Ques # 50 (Hindi)

3R T = t(x) , B & 9ACT Uldgel=T g, ar wa-d o/ AT &1 e¥asr
el W, feIwan AfFare Hifds &=, S IL&T0T & S AT
g, ar Tord o gitenfaa grm :-

A) T = t(x) &1 TeTed ded |
B) X XgunnXy T HIFA dad W
C)  Xay XgyeerensXy PT Heufadted dcad fas T = t(x) Gar &l

D) 18 & HIs AT

Ques # 51 (English)

In a sign test r is the number of positive sign, then the distribution of r is

A) Poisson

B) Binomial

C) Negative Binomial
D) Rectangular

Ques # 51 (Hindi)
Reg 90eToT A r gTcHE e T T&ATE, aY r FT a7 g1em ?

A) T8

B) &faue

C) KUIcH® Glduq
D) 3Rl

Ques # 52 (English)

If the sample size in Wald Wolfovitz runs test are n,=25 and n,=30
then the variate R (total number of runs) has mean

A) 21/11
B) 31/11
C) 300/11
D) 311/11




Ques # 52 (Hindi)

qTE dles- dlewifds 99T 94&0T # 9fdeel AT n,=25Td n,=30
& d9 o R (WFWRIBIT $1 el GEdr ) & AT § o

A) 21/11
B) 31/11
C) 300/11
D) 311/11

Ques # 53 (English)

In a nonparametric median test the test criteria follows the distribution
A) Binomial

B) Hypergoemetric

C) Poisson

D) none of these

Ques # 53 (Hindi)
T YTI ATTETHRT TN&TT F qEI8TOT & TR FT g 219

A) faug
B) ET3W SAAfLH
C) drgdet
D) =11 & 1S a1t

Ques # 54 (English)

For Kolmogorov-Smirnov one sample test, which one is not true
A) ltis atest to test the goodness of fit

B) D, = Sup |S,(x) — E,(x)| under usual notation

C) The statistics D,, is distribution free

D) Dy = I8,(x) = £, ()|

Ques # 54 (Hindi)
FAANRIG-EAT v yiaget gdaor & e i v ad 7di §

A) ST ool T Teh TI&0T
B) D, =Sup|S,(x) — E(x)| , g7 I @ dhd dgufd & dgd



C) 3fiehsT D, Ueh dcel HFd o

D) D‘J‘t = IS‘J‘I (x) - F’.rt[x)l

Ques # 55 (English)

For Kolmogorov-Smirnov two sample test, which one is not true

A) Observations are taken at least on ordinal scale

B) Two samples are independent

C) Empirical distribution is compared with population cumulative distribution function
D) Two empirical distribution of two samples are compared

Ques # 55 (Hindi)
HITARIRIG-FHRAT & &Y gfagel iator & v Fla v i adi g

A) JETUT A § A sheAdde YA I o am ararg |

B) &Y ufdeel Tad7 ¥ |

C) HTIeTTae STt T Jolell FaAToe Hardly SeT Hetet o AT faHT ST § |
D) ar gfiigelf & 3rregentass sest & Joret T S & |

Ques # 56 (English)
In case of sign test for paired samples, the hypothesis is to test the

A) difference of means

B) difference of median

C) difference of two distribution functions
D) none of these

Ques # 56 (Hindi)

fare adietor & wmeelt 7, giwa wfagelt & fow aReeger w1 aderor e e e smar
A) 3T (ATET) &I 3k

B) AT T ek

C) &Y s Helel ol 3ol

D) SeTd & IS &1

Ques # 57 (English)

The error mainly arising at the stage of ascertainment and processing of data is

A) sampling error



B) non- sampling error
C) both sampling error and non- sampling error
D) none of these

Ques # 57 (Hindi)
st F AfRfARTTT va TuTeT F AT AR A AR A g aw
INKIGERC I

B) 3mfd=rae 3¢

C) wfcrarae 3fe aar smfaeet e gt

D) ST & IS =Tel

Ques # 58 (English)

A sample of size 2 from a population of size 5 is drwan using simple random sampling, the probability of
selecting one sample is

A) 2/5

B) 1/5

C) 1/10

D) none of these

Ques # 58 (Hindi)

T gface fSaeT 3R 2 &, 919 Y GH7T @ G Aeiees Iaudd I agfa @ far g, v yfaesr &
TIT A P IRAFATE ?
A) 2/5

B) 1/5
C) 1/10

D) $+TH & 15 oTel

Ques # 59 (English)

When the procedure of selecting units in the stratra is specified then which of the following statement is
NOT correct for the procedure of stratification?

A) Determining the number of stratra

B) Allocation of sample size to the stratra

C) Determination of stratra such that the sampling variance is minimized for the given cost

D) none of these

Ques # 59 (Hindi)



I Pl spE A AT A R F TR T a Asvd TR R FRrR= AT siaar
YA TEN TE 87

A) TR T TE&IAT AT

B) TRT # ufaeel & 3R & o adeT

C) TR T ATT AT Aok & TS AT H Tt TGI0T 5 &r

D) $oTH & 15 =Tl

Ques # 60 (English)

If 'k" is sampling interval then in systematic sampling, sample mean
¥ is unbiased estimator for population mean ¥, if

A) N < nk
B) N = nk
C) N =nk
D) N # nk

Ques # 60 (Hindi)

I 'k’ SfAaIeT eavTe § O U FHEE Ufaaae & faee-AreT, GHa-AeT T Ao d JTHAF e
Ife

A) N < nk
B) N = nk
C) N =nk
D) N # nk

Ques # 61 (English)

Which sampling method is a particular case of PPS sampling when

1 .
Plz_ I.I-::I.,....,.Iﬂllir
N

A) Stratified sampling

B) Cluster sampling

C) Simple random sampling
D) Systematic sampling

Ques # 61 (Hindi)



Fig & gfggaa [(fg |, drdiovg. gfagas [(fa & v T@aw

= 1 .
Taeq § o4 P, = ~ L i=1..,N

INEGIEGRIGERD

B) =& Yidwrge

C) T Teeosd yfaadeT
D) shHAsE Fidadet

Ques # 62 (English)

The approximate expression for the bias in the ratio estimator becomes zero if R is equal to -

>

Y%
A) cov )

B) cov
V(%)
V()
D) None of these

C)

Ques # 62 (Hindi)
ITITiA 3HTehereh T AR 1 IreTaATfAT AT o g1 I 'R & WA 8l -

£

%
A) cov )

B) cov
o Y&
v (D)

D) ST & FIS A1

Ques # 63 (English)

Ratio estimator ¥ of population mean is more efficient than
regression estimator ¥, of population mean when :
Sx

A) p=R—
) P Sy



Sx
B) piﬂs—y

v

)
C) pERZE

D) None of these

Ques # 63 (Hindi)
ATSE & AT FT Ieqdrd 3helsh ¥, TATE & AT &
AU 3Tehcleh ¥, § a9 SAGT Gal gidl & o4 :

}RSx
A PR

Ques # 64 (English)

A 2*factorial experiment is confounded into a block of size 4.
Total number of generalized interaction(s) is / are

A) 1
B) 2
C) 3
D) 4

Ques # 64 (Hindi)
TH 24a§3q1a|?ﬁmmrﬁ,4 F @WUZ IHR H Thor fwmar

g AT 9 e ant fraear . F(E)
A) 1
B) 2
C) 3
D) 4

Ques # 65 (English)



The number of replication v’ is determined with usual notations
from the following :

A) r=2t2s?/d?
B) r=1/2t, s? /d?
c) r=t2s?/d?
D) r=2t,5 /d

Ques # 65 (Hindi)

yaferd egl afga ufdfeaEs &1 dear v Huia & s
g T

A) r=2t2s? /d?

B) r=+/2t, s? /d?

C) r=t;s*/d?

D) r=2t,s /d

Ques # 66 (English)

Experimental error is due to:

A) extraneous factors

B) experimenter's mistake
C) variation in treatments
D) None of these

Ques # 66 (Hindi)
YA e F FROTE :

A) STET HRH

B) SATeThdT T ITeTcit
C) 3UaRT & Affeaar
D) =18 & IS g1

Ques # 67 (English)

A 2% factorial experiment is conducted in 3 replications. Degrees of
freedom for error sum of squares is:



A) 23
B) 7
C) 2
D) 14

Ques # 67 (Hindi)

U 2°dg-3UIGleT YN T 3 IR YeRIgRd foRar amar § ar
Afe qait & AT H @i Fie § o

A) 23
B) 7
C) 2
D) 14

Ques # 68 (English)

For a balanced incomplete block design, the parametric relations are
(1) AV—-1=rk-1)

(2) b=V

3)r=k

(4) Vr = bk

Which one is true for the existence of BIBD ?

A) 1,2,3
B) 1,3,4
C) 2,3,4
D) 1,2,4

Ques # 68 (Hindi)

Hafera 3ol @vss siffeeds & o0 waedy a@reey §

1) AV -1 =7k-1)

(2) b=V

B)r=k

(4) Vr = bk

ZiH W Wi Tk Hofeld 30T @uss 3fdikedsr & folv @l &

A) 1,2,3
B) 1,34
C) 2,3,4
D) 1,2,4

Ques # 69 (English)



A partially balanced incomplete block design satisfy the following inequalities
1) r—4;=<0

(2) r—A4;=0

(3) rk—vd, < 0

(4) vk —vid; = 0

Which one is true for regular group divisible PBIBD ?

A) 1,3
B) 2,3
C) 1,4
D) 2,4

Ques # 69 (Hindi)

wsh T Hfeld 3r9ut @uss sifdseusr & fow
[GECICITERER I Ea IS

(1) r =2, < 0

(2) r—A,> 0

(3) rk—vd, <0

(4) vk —vid, = 0

ST A LreR A9 Seige i ddicid et wvss
JfFpevsr & fow @8l 8

A) 1,3
B) 2,3
C) 14
D) 2,4

Ques # 70 (English)

For which design two way local control holds true

A) CRD
B) RBD
C) LSD

D) BIBD

Ques # 70 (Hindi)
e srffeeren & fore gfaaver vueiT Aaaor et @

A) CRD
B) RBD
C) LSD
D) BIBD



Ques # 71 (English)

The price of certain commodities for four years is computed. It is observed that quartely average of first
guarter is 360 and over all average of four quarters is 320. Seasonal index of first quarter is -

A) 1125

B) 88.88

C) 0.88

D) 1.125

Ques # 71 (Hindi)

faregl avqat Fr v TR w1 & faw faewrel o=l ¥ | 7 @ @ B Aenfe it gger dafas
360 8 9T IRT A71TAF F1 3itaa 320 7 A 9ge AT F1 ga=iF Tl

A) 112.5
B) 88.88
C) 0.88

D) 1.125

Ques # 72 (English)
In cyclic variation, the objective is to

A) eliminate trend

B) eliminate seasonal effect

C) eliminate trend and eliminate seasonal effect from time series data
D) None of these

Ques # 72 (Hindi)
TP ReTaT A 3T g Wware &

A) 39T T faered e

B) #HIw# gerrar ht fare[cct hiam

C) 39Tt b farefec et g AT w811a ¥ faeed e
D) $TH & IS Tt

Ques # 73 (English)

In a time series, Harmonic analysis method is based on the function y,
expressed in the form of :

A) Taylor's series
B) Harmonic series



C) Fourier series
D) None of these

Ques # 73 (Hindi)

Tk el AU H, THIEG faRemer $r @ &7 s y, &9 ¥4
H 3iferegerd g1 § 98 @

A) ToX Soft

B) wHeTarer Aofr

C) IR Aoft

D) g7 & IS oTeT

Ques # 74 (English)

Under usual assumption in time series datay, = By + By y,_; + E;
is a type of

A) Linear regression model

B) Auto regressive model

C) Non linear regression model
D) Multiple regression model

Ques # 74 (Hindi)
gHM &FT THE SH YURUIT & dgd Hld AU 3wl & folw
v, =By +B V4 +E Th YBR &1 ¥

A) 3T TTgaT#T foigel
B) ¥ad: TdaerdA1 fegel
C) IR Y& gclrwerHe foige
D) S FelTaaraet faigel

Ques # 75 (English)

The price of two commodities A and B in the year 2015 and 2016
are shown in Table.

Commodity Price
2015 2016
A 4 b
B 5 7

The average price relative of both commodities is assuming 2015 as base year



A) 1.45
B) 0.68
C) 12/10
D) 10/12

Ques # 75 (Hindi)

ar aEg3t A 3R B &1 3ftwa Feva a¥ 2015 @r 2016
& fow Aes aroft & & 715 ¢ -

aEqu Ao
2015 | 2016

A 4 b

B 5 7

2015 1 3TUR a¥ AR, gl aFg3il FI dafeud fad Fad
T gl ?

A) 1.45
B) 0.68
C) 12/10
D) 10/12

Ques # 76 (English)

Price Index, for a year using simple aggregate method, P,
for various commodities is

'P'J‘I
A) =100
P

g

YP
B) =« 100
X P

C) Z (%t) * 100

D) None of these

Ques # 76 (Hindi)

AIRYT AT fafe &1 39401 & U a¥ & fov fafdesd aegsi
1 HcAlH Hdehih, P, I Hlel & |

Fy
A) — 100
P

Q



YpP
B) = =100
X P

C) Z (%:) * 100

D) SAH & HIS AT

Ques # 77 (English)

The main advantages of Laspeyre’s index number is that the
weights (q,) for the base year

A) remains the same throughout

B) do not remain the same throughout
C) changes every year

D) none of these

Ques # 77 (Hindi)

IR HOFIF F YHE N I§ ¢ 19 IUR a¥ F 6w AR (qo)

A) BHAT TS ATETTEAT &

B) &HIT Ueh AT LT @1 &
C) IAsh ATl IRafcid g &
D) 318 & I el

Ques # 78 (English)

For a time series data index number obtained from chain base method is expressed by: (where j =
1,2,...k;t=1.2,...,n)

ijt qj—1)t
Ep(j—l}t djt

A)

ijt q(j—1)t
ZFU—l}t qj—1)t

B)

Z-pjt

C)
ZQ(j—l}t



Pjt 4(j—1)t
= Pii—1)e (-1t

D)

Ques # 78 (Hindi)

FTer A0f 1T F A, sgen smenfa R garr wrea ga=is v R S §
(FBTj=12,...kdgrt=1.2,..n)

ZP;’: qj—1)t
ZFU—l}t qjt

A)

ijt qi-1t
ZFU—l}t qij—1)t

B)

Epjt
ZQ(j—l}t

k
D) Z Pjt Q(j—1)¢
e Pii-0e (-1t

C)

Ques # 79 (English)

Paasche's index number possess :
A) no bias

B) downward bias

C) upward bias

D) none of these

Ques # 79 (Hindi)

qTeft i AT FaT §
A) FIS HTHATT T8

B) 3refmeT 3ifdafa

C) ey AfF=fa

D) o1&l & & FIg oAel

Ques # 80 (English)

Using base shifting method, the new base index number is obtained from



old index number of current year

X = 100
index number of new base year

old index number of old year

. * 100
index number of new base year

new index number of current year

- * 100
index number of new base year

D) None of these

Ques # 80 (Hindi)
TR FATATGOT fafer 7 92T T, 74T ITUR FaHF AT FI9 6 -

I AT Hel T =T Jish

A) _
ST TR HIel &l Hdieh

* 100

Tl 1ol T =11 i

B) :
=TT TR ATel & gdih

* 100

Ques # 81 (English)

Estimation of population, for a particular year using Analytical method, is obtained from
n

A) Py+— (P —Py)
N
n

B) F1+E(P1_Fn)

n
C) PU“"E[PU_FI)

D) Py +n(Py— Py)

Ques # 81 (Hindi)
UF 9H@ a¥ & fore, frdverens faftr & wier @, Sewear w1 3 A R Srarg -

n
A) PU“"E[Pl_FU)

n
B) Pl"‘E(Pl_Pn)



n
C) Pn"'E[Fn_Fﬂ

D) Py +n(Py— Py)

Ques # 82 (English)

Fertility rates mainly depend upon :

A) total population

B) total female population

C) female population in the child bearing age
D) none of these

Ques # 82 (Hindi)

C) TRIe[ &ROT et v 31Ty aTely e hr STevdedT W
D) $o7%1 & 1 el

Ques # 83 (English)
Number of children born alive per 1000 women of child bearing age in a given year and region is

A) Total fertility rate

B) Age specific fertility rate
C) General fertility rate

D) General martial fertility rate

Ques # 83 (Hindi)

forelY few gu veh af 7 a1 &, AAfreait it Rie) Sedeerar at #, T 1000 Afem3it W Shfd sear o=t arer
Rrepait fr FEaT § -

A) Fel FoTelel &

B) 3 fafarse yofelel X

C) ITHAT Ylalel g{

D) TTHATY AT ToTelel &<

Ques # 84 (English)

Which of the following are the assumptions of Gross Reproduction Rate (GRR) are (1) There is no



mortality of newly born female children till they attain the highest reproductive age. (2) There are no
gains or loses due to migration. (3) The current fertility rate is maintained till their highest child bearing
age. Which one is most appropriate for GRR ?

A) (1) and (2)

B) (1) and (3)

C) (2) and (3)

D) (1), (2) and (3)

Ques # 84 (Hindi)

e Yorerel o3 1 fovet # & i WY wReveqae § 2 (1) 73 st fore Afgar a=ai 1 7cg o a9 aF a1
81 1T 3% R ST SoreeT I F A TET S| (2) TATH F FROT FE 7 A7 g A @Y | (3) Ao
YA &Y I A9 AF qAC W@ AT qF 6 36H1 A 0Fast wwa 337 781 95 g v |

A) (1) 3R (2)

B) (1) 3R (3)

C) (2) IR (B3)

D) (1), (2) 3R (3)

Ques # 85 (English)

If total fertility rate is 1050 and the ratio of female birth to male is 100 : 110 then gross reproductive rate
is :

A) 500

B) 2500

C) 550

D) 1155

Ques # 85 (Hindi)
I Fer woteter X 1050 AR FN-3T FT S FT AT 100 : 110 & & Tl SToTeT TS -

A) 500
B) 2500
C) 550
D) 1155

Ques # 86 (English)
With usual notation which of the below given relation is not correct :

I.x + 'E.x+1

A Ly="—



1
B) L, =1L —d,

1
C) L.r:I.x'-l_Ex

D) Ly=T, —Ty11

Ques # 86 (Hindi)
yafoa Reel @R A R v ararut A A sl arady adi 2

A) L_x- _ I.x' +;.r+l
1
B) Ly =1L, —d,

1
C) L.r:I.x'-l_Ex

D) Ly=T, —Ty11

Ques # 87 (English)
In which year planning cell was set up in CSO ?

A) 1950
B) 1955
C) 1952
D) 1953

Ques # 87 (Hindi)
mmmﬁmﬁ#m@amm@m

A) 1950
B) 1955
C) 1952
D) 1953

Ques # 88 (English)

NSSO is an autonomous body since the year:

A) 1960
B) 1965
C) 1970
D) 1971



Ques # 88 (Hindi)
I¢ ¥ 39 & TS vfager ada1or Hered v wqaifad e g

A) 1960
B) 1965
C) 1970
D) 1971

Ques # 89 (English)
In which year first census of free India was conducted ?

A) 1948
B) 1950
C) 1951
D) 1952

Ques # 89 (Hindi)
forer ad & Tad o ST Y Tgelt STAITOTaT S oY 2

A) 1948
B) 1950
C) 1951
D) 1952

Ques # 90 (English)

Which one of the following method is not true for the calculation of National income ?

A) Survey Method

B) Output or production method
C) Income method

D) Expenditure method

Ques # 90 (Hindi)

T & @ Pl @ v A Tsdr 3y Y o A A A R Ao
A) gdeToT fafer

B) 3curee fafer

C) 3y fafer

D) <u¥ fafer




Ques # 91 (English)

Functioning of CSO is: (A) to co-ordinate the activities of statistical officer at the centre and state. (B) to
estimate the yearly income of the country.

A) (A)

B) (B)

C) both (A) and (B)

D) neither (A) nor (B)

Ques # 91 (Hindi)

FegIT FITETHT WIS & R & (A) Fg 3 U= F Fifeghr st i afaRfeat F1 @@ w0 |
(B) 2T Y HTSITAT 3T T 3Theld |

A) (A)

B) (B)

C) (A) 3R (B) al=t

D) o (A) 3R T & (B)

Ques # 92 (English)

Agricultural Statistics is mostly collected by : (A) Department of Economics and Statistics at central level.
(B) Department of Economics and Statistics at state level.

A) (A)

B) (B)

C) both (A) and (B)

D) none of these

Ques # 92 (Hindi)

FY graetl 31ws T T @ & ZaRT UHTAd fhd A1 § - (A) ol TR W 3nfds v
TR fasimer | (B) W TaX W 3nfds va qifeahr fasmr |

A) (A)

B) (B)

C) (A) 3R (B) ai=t

D) geT3 @ g =Tel

Ques # 93 (English)

Which statement is not correct:

A) the units of inheritence are genes.
B) a gene's physical location on chromosome is called locus.



C) version of gene at a given locus are called alleles.
D) there is only one possible alleles at each locus.

Ques # 93 (Hindi)
P FrAl A A FT arad T Y

A) TRITTShHA T ShTgAT JA] &

B) ShIATENH TR 2oy Y $iifdieh [Eufd oieha shgerrdr g
C) Tl & witend TR FRITUL3HT T TIET Telod g el o
D) Ucde ehehdl IR Ueh &1 I Tolerd g §

Ques # 94 (English)

The data refers to the index numbers of Agricultural production with base year as the triennium end
given details regarding

A) food grains

B) non food grains

C) food grains and non food grains

D) none of these

Ques # 94 (Hindi)

a1 3 Y YR T AT §U, F SeUeA qIHF A TR HFE_ FaR A -
A) 3T (TreTH)

B) IR e

C) Tt AR IR @reA gt

D) 3o & g a1

Ques # 95 (English)

Probability of including a specified unit in a sample of size 4 out of 20 units is :

A) 1/5
B) 1/4
C) 1/20
D) 1/80

Ques # 95 (Hindi)
20 SHISAT H ¥ 4 AT F yfage # AfETSea s # nfAeT FA A RFar

A) 1/5



B) 1/4
C) 1/20
D) 1/80

Ques # 96 (English)

The graph between the period (p) of cycle and intensity (S,) is known as:

A) correlogram
B) periodogram
C) histogram

D) none of these

Ques # 96 (Hindi)

Tk & Pl (p) IR dgar (s.) F 7= F@HT F= F149T §
A) g gFaey a7

B) 3mafddr as

C) 3Id a%

D) $+TH & 15 oTel

Ques # 97 (English)

If n, =0.6, i3 = 0.5 andr; = 0.8 then the valueof ry, 5 is:

A) 0.4

B) 0.72
C) 0.38
D) 0.47

Ques # 97 (Hindi)
qAE If ,, =06, 75, =05 Td 15, = 0.8 AF 13,5 P AW § :

A) 0.4

B) 0.72
C) 0.38
D) 0.47

Ques # 98 (English)

If the probability of occurence of two independent events A and B respectively are 0.3 and 0.4, then
which of the following is true :

A)P(AorB)=0.12



B) P(Aand B)=0.12
C) P(AandB)=0.70
D) P(AorB)=0.10

Ques # 98 (Hindi)
I QY FadT geaA3it A qUT B A afed A A MRAFAT FAL: 0.3 TF 04 e AN RAFT A FT AT THF T

A)P(ATTB)=0.12
B) P(A3IRB)=0.12
C) P(A3RB)=0.70
D) P(AJTB)=0.10

Ques # 99 (English)
If X~ N (u, Y ) then with usual notations T2 is defined as :
A) T? = (Z — pg)'S™" (X — )
(T — pp)'S™ (X — 1)
1/
C) T?=NE—pe)' 27" (£ — 1)
D) None of these

B) T?=

Ques # 99 (Hindi)
TG X ~ N (X ) a9 gafeld faegl garr 72 IR §

A) T?= (% — pg)'S™ (X — 1p)
(F — pp)'S™ (X — 1)

B) T’=

1;N
C) T?=NE—po)' 27" (X — )
D) 371 & *IS =gl

Ques # 100 (English)

The unbiased estimator of population variance g is :

Where s = iE[xE- — x)®

n 5
5
A) n—1




B) ns*

—1
c) 1T -2
n

D) None of these

Ques # 100 (Hindi)






